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PART - III
2 19fwed / BIOLOGY
( 5O wHmib Edle euyl / Tamil 8 English Version)
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&re jate] : 3.00 wewfl GpyLd | [ Qurgs wlCuarser : 70
Time Allowed : 3.00 Hours | [Maximum Marks : 70
Sdleysorset : (1) dimass edamésend sflurng Lfeuns) e erarsm erarugemer sAuMTEES
Qamatetayld. FsILE D GampuimUdar Siens samaTeniiumerflLLD
o L aniquingg Gsflelsgsayw.
(2) Beoldb ez sBUY @wllamar b HCWL W USHGLD
2Ny 5Csmy Qaugn@h Lwau®ss Couam@b. UL ks uMmTeUSH G
Quendled LweTLHSSeLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.
GOLY : uGS-1 (auﬂ]rﬂ-gnmuaﬂud)), LGS (2uif-edondwe) salssall ellamLggmate
e waflgsaw.
Note : Candidate should answer Part-I (Bio-_Botany) & Part-II (Bio-Zoology) in separate

answer books.
UGS - I (2-udf-greuyeilwed) / PART - I (BIO-BOTANY)

(oHuQuekrser : 35) / (Marks : 35)

9fley - 1 / SECTION - 1
GOl : (i) Soass NeméaEné@n elanweflésey. 8x1=8
(ii) Gar@ésluul(@érar prarg wrHm el saled WS 6rHLemL W
e amws CsMb0s0s56 GMNUETLBLar e lemeard Cosisg
GT(PBALD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1.

Cy app&luded mienpupd genblanmm CO, apedHsm HIhEGLD GgeneuliLi(Hio

NADPH aanasilaaa,

ATP wdHmib

(<o) 2ATP + 2NADPH (e54) 2ATP + BNADPH

(@) BATP + 2NADPH (r) 3ATP + 3NADPH

For every CO, molecule entering the C, cycle, the number of ATP and NADPH
required :

(a) 2ATP + 2NADPH (b) 2ATP + 3NADPH

(c) 3ATP + 2NADPH (d) 3ATP + 3NADPH

Gape uELYe @sflamsa) @CrmGurCambaer Cymy Geirged eT6ut
SWssLLB&DE).

(=) Slenig(Hser (<)) @ UeuTeeHTL.

(@) Hemmiidlen () WReyflera

The Pairing of homologous chromosomes in meiosis is known as

(a) Synergids (b) Bivalent

(c) Synapsis (d) Disjunction

HiGammev@uiibsailey Hmayar & o (peureug)

(=1) s@eipgedlen Gung) () 5OUDSPES (P

(@) sEuDERIEEY Ger (M) & auan@d Gung)

Endosperm in gymnosperm is formed :

(a) at the time of fertilization (b) before fertilization

(c) after fertilization (d) along with the development of embryo
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% 4. QummsEHS :
o (1) wredligerd (i) ueswd
o (2) 8ESHTED (ii) QusdCuraflar
(3) Ousefdlwib (iii) pESen
. (4) eenwi (iv) eopt_CrmgdCGemaiy
' (=4) (1)-(), (2)-fii), (3)-(iv), (4)-(i1)
L (@) ()L, (2-0), (3)-(), (4)-6+)
(@) ()-Giv), (2)-(i), (3)-6), (4)-6i)
() (1)-(iv), (2)-(id), (3)-63), (4)-(ai)
; Match the following.
f; (1) Molybdenum (1) Chlorophyll
¢ (2) Zinc (i) Methionine
(3) Magnesium (111) Auxin
(4) Sulphur {iv) Nitrogenasc
o (a) (1)), (2)-(iti). (3)-(iv). ($)-18)
: (b)  (1)-(id), (2)=(3), (3)-[u8). (%)-(v)
(c) (1)-(iv), (2)-(sti), (31-03), (4)-()
(d)  (1)-(iv), (2)-(83), (3)-08). (4)-(aet)

5. gtb&.(&!l..&jﬁ)ﬁd) uﬁ,ﬁaﬂmd% gnmmb i’g}?

(1) omendl\Qugn («) umbyen
(@) Byan () &Caa
Which of the following is polycarpic plant ?

(a) Mangifera {bj Bambusa
(c) Musa {d) Agave

6. Gaapaeappd a3 op/ags yopsdr dog cpissos fis

vwau@asuuplapa?

(@) Swpump Gopsdd () Corpd Bapspad

(B) sPss@wszd (7) Doa awadgd

Which one of the following method/methods is/are used to break the seed
dormancy ?

{a) Scarification (b} Impaction

(c) Stratification (d) All the above
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7.

Qo@pE GO Q@56 QTR @Has el L aran 2|W&ELLGEDS).

(=) Qearuns Gaos @ GHVSLD

(@) LD GBS Qe Gosid

(D) Qeoarhs Gos @ae GG

() Cupsaplu ergeyddene

Gynoecium with united carpels is termed as :
(a) Apocarpous

(b) Multicarpellary

(c) Syncarpous

(d) None of the above

Slgmd Gpit Lméle Awkisemerts LPHIL Seuprer sapens SETLHS.
(=) QL&smuls =fevid smenrliL( eudlvoenew

() deed soufle fseray Quiig CLrdlenerdamen 2 6TeTg)

(@) Qg6 seum H145g1E SnaTlILEHLD

() NLGur unllersamylser sraliL@euddme.

Identify the incorrect statement about the Gram Positive bacteria.
(a) Teichoic acid absent

(b) High percentage of peptidoglycan is found in cell wall

(c) Cell wall is thick layered

(d) Lipo polysaccharides absent

19fley - 2 / SECTION - 2

GOy : eemeauCugnid Bresis elamss@néd eloL wallsseab. 4x2=8

Note : Answer any four questions.

9.

10.

11.

“19&Cammengeds” upml BeldliT dleug) wimg?
What do you infer from the term “Pycnoxylic” ?

FangLILIDOIGTAT STeUNEISETle, HauTe e EIIL LiduIb. eer?
Respiratory quotient is zero in succulent plants. Why ?

CapmAGumblyev wpmid Qapi i Crmilyay amastsasmar Caunu@ssis.

Differentiate homeomerous and heteromerous Lichens.
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12. Qauflen w@Haements Li_ib QUENTHGI LINGIHIGENEH @ HlHHa .

Draw and label the parts of regions of root.,

13. yshlyaranid «esCwmev@uiih BeUnEIGEHSEG Qran® TOSISFT(HsET FTHs.

Give two examples for insectivorous Angiosperm plants.

14. Spssam_aupine, SOWVEFLSFTHEET &(Hs.
() wETHsSSTETHET R SLLIE QenanThs WEFHSSSTETEHET
() waTpsssTaTSHT B0 BB EpLe @amarthd (&6
Give the technical terms for the following :
(a) Stamens are united in one bunch.
(b) Stamens are attached to the petals.
\9fey - 3 / SECTION - 3
&MY : etemeuCuignid (g)s&rgj allamésErss oL wallGseyn. elam ararr 19 -&@s,

SLLmuwns el wefdseyb.

3x3=9
Note : Answer any three questions. Question No. 19 is Compulsory.

15. s GLresailar eumpeilice efamaraysmer eT(Hgis.

Write the physiological effects of cytokinins.

16. greupéd Qgceilen mi@TamabLIemL LLLD 6Uaihgl LITGRISMmETS GMh&Esa|b.

Draw the ultra structure of plant cell and label its parts.

17. @heop wiyw GaBL 2 Wfl aurpémssd G @riemrigu CsSL o udf
UTD&Ess @Welalmhg Coumubsss.

Differentiate haplontic life cycle from diplontic life cycle.
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18.

19.

Leaasnet RNA-afes oenioliL) ibpmid el sener eflermd@s.

Explain the structure and functions of different types of RNA.

@ @reurelwe euguld NMwir C, greughiser g @@nsGaman 2 HUBHEE
30 ATP a@mer LwearLRdgieugnaab, Cy sralrhiser 18 ATP &gamer wLHGw
vweudggieugnaand elas@dpni. Gerer oiCs, o Aflwi C, SrouFRsET STem
C; sramseadde Apps ssaumwly Qupmdamgrs sapdori. BHS
WPTTUTLIG HETET STTTLD GTeTe?

In Botany class, teacher explains, synthesis of one glucose requires 30 ATPs in
C,4 plants and only 18 ATPs in C, plants. The same teacher explains C, plants are
advantageous ‘than C; plants. What is the reason for this contradiction ?

9fley - 4 / SECTION - 4

GOILY : Searsg) ellemssEnsEn eflenwaflsseyb. 2x5=10

Note : Answer all the questions.

20.

21.

(1) werps Cgaugller (awlLrdlav) @é;é]u_:g,gjmrmasmeﬁ CT(LPSIS.
; 346\)6\)51 ;
(<) G@Ep&ECamen 2_emiujb wirpneufliuremgule QU eraa? il el Qumid
clenaganer aleuf&seayLb.
(a) Write the significances of Mitosis (Indirect cell division)
OR

(b) What is the name of alternate way of glucose breakdown ? Explain the
process involved in it.

VIL L ]
| 39 S Nt

(=) avsaflenr(BHaamer oiger cuangsenler efeifssayib.
1) iy i B0 G i
(=) & @B weplar amasmer qHdgssT [Her elleuflsseyb.
(a) Explain Sclereids with their types.
OR
(b) Explain the different types of placentation with example.
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LGS - I (2_u9f-eQevrisdlwiev) / PART - II (BIO-ZOOLOGY)

(LG usrrsen : 35) / (Marks : 35)

S1fley - 1 / SECTION - 1
GOuY : (i)  Semenssy lenmmésErsE eflenL wal&sa|. 8x1=8

(i) Gsr@ésiuul (erer prang wrHm doLsaied Wsab gHyLW
dlevLews CsibAsds5s6 GHULOLE deoLlmaybn Csrsgl
CT(LPSEYLD.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

1. Qupmsude, Bls sifs aanailsmsuia ApHamsamdas AararL e udfsdr.
(1) yéblser (<=4) upeeuSET
(@) <@EpdlCuravQumbsar (7)) yepemsaer
Which of the following have the highest number of species in nature ?

(a) Insects (b) Birds

(c) Angiosperms (d) Fungi

2. LOUIT SHTEND TN USZOSE G lg WU wmm?
(=) aumeoir Gpmaesn (=) .. LretevCGen
(@) siflevmige (/) el sraETCLTED
Who coined the term “biodiversity” ?
(a) Walter Rosen (b) AG. Tansley

(c) Aristotle (d) Ap de Candole
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3.

saFgr aulgal erlfelwsden WeEHwd Lieswf :

(1) urgismay (<) &roy

() e-Hepssd (m) (=) wopd () Grem@ro
The main function of cuboidal epithelium is :

(a) Protection ) (b) Secretion

(c) Absorption (d) Both (b) and ()

fesssiiL@esred ailsCrmiemmavGLradion <5t Lmld ghuUBEDS.
(=) s@melen Qs HeuliLgmisser
(<) 5. PBW QU655 GRD L LIUTSD LTHESILEHSH
(8) smelen Qs QeudrenaTE&E6T
() &@®, Werwlemr Grmured LTSssiLHS®
Erythroblastosis foetalis is due to the destruction of
(a) Foetal RBCs
(b) Foetus suffers from atherosclerosis

(c) Foetal WBCs

(d) Foetus suffers from minamata

reaflenger spnSlulen ellener@ummer wrg?

(1) sTTU6T-eL - Eme(h (<) wils Sjdled
(@) wilwmr (FF) SLCwreafilwm
The end product of ornithine cycle is :

(a) carbon-di-oxide (b) uric acid

(c) urea (d) ammonia

QIS Smssmar agibLsGa(h @amenTiig) :

(1) SEFHTHTEHET (<=4) sewspmir
(@) Qusigen (rF) coemulurfler
Skeletal muscles are attached to the bones by :
(a) tendon (b) ligament
(c) pectin (d) fibrin
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7.  wallg epearuller G“L'U@j,{ﬂ 2. 1_¢) Geuliuflene SLHLUT (L6 GgmmyenLiig)?
(=) Sipiepean (<) QU aar
(8) poEeamb () enanliGUTSMLOGY

Which part of the human brain is concerned with the regulation of body
temperature ?

(a) Cerebellum (b) Cerebrum

(c) Medulla oblongata (d) Hypothalamus

8. Gpmig sevLésmiyLen QsTLiyenw &ri9

(=) Seflwed spiug (<) @i Mared rind

(8) erswev &pq (/) umpr eogrmi® &rod
The gland, which is related to immunity is

(a) Pineal gland (b) Adrenal gland

(c) Thymus gland (d) Parathyroid gland

9fley - 2 / SECTION - 2
&MLy : eremeuCuenid mrenE, clamésEnse el welsseayib. 4x2=8

Note : Answer any four questions.

9. asmppreng HrAUN MBS APFSFEGSLRTOW DML LD 2niysmas SLbHF
Gsedng). eueyniyseier duwismer aflesiL(Hs)s.

Air moving from nose to the trachea passes through a number of structures. List
them in the order of the structures.

10. wafls o Lelléd smemriL(RD Ldems Qussnsaner QUITSMETS Foms.

Name the different types of Movement seen in human body.

11. waryepelar QuRevCmblwd wdmb YErmaGLmllugms Comu@ssis.
Differentiate between Peristomium and Prostomium in earthworm.
GREEN GARDEN MATRIC. HR. SEC. SCHOOL[ $i(5li4& / Turn over

Perundurai R.S.
PH: 9486379461, 8344933377


https://www.padasalai.net/
https://www.padasalai.net/
user
Typewriter
XI - JUNE 2023

user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


XI - JUNE 2023 10

12 SpiLeles wiQub e figsdlacr o drarar. gar GanprienLder Gama?

Why are villi present in the small intestine and not in the stomach ?

13- BOLEUueal eaniu@ag), gar eiaay SlaselILGEng)?

Why is blindspot called so ?

14. Caueassms Coatsseiar Lafsmars FLDaYLD.
What are the duties of a worker bee ?

\Yfley - 3 / SECTION - 3

G amm@mgum Qe eflanmés(emé s QS]GU)LUJGIﬂ&&;&{LD e ereim 19 -&@
SL_L_MWLONS eflenLwafldaseyLd. 3x3=9

Note :  Answer any three questions. Question No. 19 is Compulsory.

15. 4Gy GLrQm.slifig wirésaner, Qi Lr@psLfgursseldmbs Coumu@ssis.

Differentiate protonephridia from metanephridia.

16. enLwrGuliged @Quwellien whmbd @rurQuigd Garddid odueme
FOURHCUSDSTET STTERIIEMETE @g’)]ﬁuﬁ]@as.

Write the causes for Diabetes mellitus and Diabetes insipidus.

17. @Qsw @dlsdr eaapred eaaa? oe@mes  aLCUTE  LHYID eTliLg
o @rLméaLILphSemmen?

What are heart sounds ? When and how are these sounds produced ?

18. upaeuseilen Sis&s L GHHen sailgeDd umiibhs L smars @GHlid{as.

List the unique features of bird’s endoskeleton.

19. Hlembi erammmed eramen? iSeim LLem wng|?
What is lymph ? Write its functions.
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YWfley - 4 / SECTION - 4

@@uq P Dmeuig gy aﬁ\smrré;es@ej;@m ofNen_wef&Hsa L. i

Note : Answer all the questiong

20. (=) seuenearulen Quegr QeQumESs LT OSMmS NaTEEa|ID.

AN
(%)gm@ﬂu—'@@ (ufey) BIDL| LOGRTL LD GremTed Greumen ? 2| & 60T NGy
eSlerd@s.

(a) Explain the female reproductive system of frog.
OR

(b) What is ANS ? Explain the components of ANS.

21 (1) apgleunm Hlaneuler selimean sLs e Sléswaar ghu@Sng TaLMS
dlend G s.
3160608
(<) Ul (Buyupedler eumpsamsasd gppfaw HarsEEs.
(a) Explain the conditions which create problems in oxygen transport.

OR

(b) Explain the life cycle of Bombyx mori.

-o0o0-
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